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Topic

No. of Questions

Topic 1: Examining Endpoints

1

Topic 2: Exploring Basic Call Control 1
Topic 3: Exploring Advanced VCS 5
Features

Topic 4: Deploying Video Conferencing |1
Bridges

Topic 6: Exploring TMS 1
Topic 8: Examining TelePresence 1

Conductor
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Topic 1, Examining Endpoints

Question No : 1 - (Topic 1)

How many digital video inputs does a Cisco TelePresence Codec C40 have?
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Answer: D

Topic 2, Exploring Basic Call Control

Question No : 2 - (Topic 2)

What will happen if the local zone on a Cisco TelePresence VCS does not have a search
rule?

A. Calls to locally registered devices will fail.

B. Calls from locally registered devices will fail.

C. Calls to externally registered devices will fail.
D. Calls from externally registered devices will fail.

Answer: A

Topic 3, Exploring Advanced VCS Features

Question No : 3 - (Topic 3)

Which user groups on the Cisco TelePresence VCS are available for LDAP integration?

A. administration and FindMe™ users
B. administration and supervisor users
C. supervisor users and client users
D. client users and FindMe users
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Answer: A

Question No : 4 - (Topic 3)

A Cisco VCS has a search rule that uses the pattern string of ([78]\d1\d+|Meet\..*). Which
three dial strings will match the search rule? (Choose three.)

A. meet.richard

B. 7881000

C. Meet.Richard

D. 8881888

E. 781

F. 781.meet.richard
G. 881000

Answer: A,C,G

Question No : 5 - (Topic 3)

What does the hop count setting on the firewall traversal configuration limit on the Cisco
TelePresence VCS?

A. The number of Cisco TelePresence VCSs that a call can travel through.
B. The number of firewalls that a call can travel through.

C. The number of routers that a call can travel through.

D. The number of switches that a call can travel through.

Answer: A

Question No : 6 - (Topic 3)

Two Cisco TelePresence VCSs are not configured with DNS. What are the consequences
of only setting up one neighbor zone?

A. Calls can only be made in one direction.
B. All searches will fail between neighbors.
C. Calls are not possible between neighbors.
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D. Registrations are not possible.

Answer: A

Question No : 7 - (Topic 3)

What two protocols are used in firewall traversal? (Choose two).

A. SIP

B. H.239

C. H.460.18 & 19
D. Assent

E. H.264

Answer: C,D

Topic 4, Deploying Video Conferencing Bridges

Question No : 8 - (Topic 4)

What does an MCU service prefix of 8 mean for users of a Cisco TelePresence MCU?

A. Any conferences created from an endpoint will be prefixed with 8.
B. Any dialed number starting with 8 will be routed to the MCU.

C. Any gateway services will be prefixed with an 8.

D. Any MCU-created conferences will start with an 8.

Answer: B

Topic 6, Exploring TMS

Question No : 9 - (Topic 6)

What occurs when a conference with eight sites is booked through Cisco TMS?

A. TMS will automatically choose the most appropriate MCU that is available on the
network.
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B. TMS will prompt the engineer to book an MCU on the network.
C. TMS will cascade the call by using the built-in MultiSite capabilities of the endpoints.
D. TMS will automatically activate Multiway.

Answer: A

Topic 8, Examining TelePresence Conductor

Question No : 10 - (Topic 8)

Which two of the following are supported ways to install Cisco TelePresence Conductor?
(Choose two.)

A. Purchase the appliance with the application already installed.

B. Install the application on Windows 2008.

C. Install the application on a Cisco supported VMware ESXi host.

D. Enable Cisco TelePresence Conductor under the Application menu in the Cisco VCS.

Answer: A,C



